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Metals and Nonmetals

Metals or Non-metal?

Metals are on the left side of the peniodic
table. Non-metals are on the right side.
Metals and non-metals have different
properties and bond differently,
making different kinds of compounds.

Caleium (Ca): metal (left side)

Bromine (Br): non-metal (right side)

Going Farther

Along the separation line are
the semimetals or metalloids:
Boron (B). Silicon (S1).
Germanium (Ge), Arsemic
{As), Antimony (Sb). These
have properties of both
metals and non-metals.




. Octet Rule A. Elements found on the right side of

the p

eriodic table.

. Metals B. Elements found on the left side of the

. Valence C. Says
electrons with

. Non-metals level

periodic table.

that atoms tend to be more stable
eight valence electrons.

D. Electrons in the outermost electron

. Involved in chemical bonding.

How many valence electrons?

Calcium (Ca) 2 . Hydrogen(__ )
Potassium () Heliom ()
Oxygen(__ ) Aluminum(___)
Argon () Sodium ()

Boron (___ ) Nitrogen (___ )

r

Meral or Non-mewml?

LI Ahvmimum A1)

_ Omyeeni_ )
Goldi(__)
Mitrogen{_ )

Bromine (___}

Enypton{_ )

_ Iom(_ )

_ Fluesne{_ )
A 1|

_ Iigbmm{ )
_ Clrominm ()

Lead(__ )

Connecr the elemenr on the lefr with the elemenr
on the vighr thar has similar veecrivin.

Chlarine Beryllimm
Phesphorous \ Potassium
Magnesum Todine
Sedmmm Alnmemm
Boron Onygen the same reac
Sulfur Mitogen

7 protons and 10 electons.
135 protons and 13 elecwons.
35 protons and 37 elecmons

Give the els

Newiral atom or ion”
. Neumal arem or ion”
. Neumal atom or ion”

ent abbyeviation and charge

5 protons and 2 elecwons: Element: B Charge: _ =3

16 protons and 18 elecrons:

: Element: _ Charge:

= of valence electrons:

33 protons and 36 elecmons: Element:  Charge:
== Element:
= of neutrons:
@ Mass =
= of electrons:

It1s an2on?

®

Element:

& of meutrons:

Mass =

= of elecirons:

= of valence electrons:

It 1z amaon?

O

Element:

= of neutrons:

Mass =

= of electrons:

= of valence elections:

It1s an1on?

Are theze alements izotopes af one anether?
Element 4: 12 protons; 11 electrons: 13 newtrons.
Element B: 13 pretons: 12 electrons: 13 neutrons

Are theze elemenis irotopes of one another?
Element A: 14 protons: 1§ electrons: 13 newtrons.
Element B: 14 protons: 14 electrons: 13 neutrons.

Are theze elsmenis izotopes of one onother?
Element A: 12 protons: 11 electrons: 13 neutrons.
Element B: 12 protons: 12 electrons: 13 neutrons.

Are theze elswems izatopes of one another?
Element A: 18 protons: 18 electrons; 18 newtrons.
Element B: 18 protons: 18 electrons; 19 neutrons

. Sulfor bas

electron level: and _ 6 valence electrons m level

Sulfur {_ S Jmrow 3 complate

MMagmesium ( )15 In Tow . Magnesamm has

complete electron levels and valence electrons i

level
Carbon ( } 1510 rOW . Carbon has complete
electron levels and valence slecoons i level
Potassmum ) ism row - Potazzmm has
complete elecoron levels and valence electrons
level

complete

Argon | ) is 1 row . Argonhas

electron levels and valence slectrons 1 level
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Label the Group Numbers (#1-18)

Label the Period Numbers

Write Atomic Numbers 1-18

Color the metals-blue, nonmetals-red,
and metalloids-yellow

Name the following groups: Alkali
Metals, Alkaline Metals, Halogens,
and Noble Gases




